74" Eigenvector

Ne:3 825 m8:§

Irred. Representation : T'y 4

A
Puo=
11
|\II74> = |37§7§7F4,1>
= Cra1 (/002u) + [00u2) — |2u00) — [u200))
+ Chraz (J020u) + 02u0) — [0u02) — [0u20) + |200u) + [2060) — [1002) — [1020))
+  Cry3 (|0udu) — |Ouud) — |dulu) — |duul) + |u0du) — |uOud) + |udOu) + |udu0))
c _ t(J+12t4U)
Y
t (U —2W + (\/gsin (04) — cos (94)) \/A5)
+ —
3v2
c t—J + 4t —U)
T4-2 =
2v2
t (U —2W + (\/gsin (04) — cos (94)) \/A5)
+ —
2v2
A3y — 3(t+2U + 8W)Agg + 9 (—4t% + (U + 4W)t + (U + 4W)?)
Cr—z = VG

Nz = 2\/C$4,1 +2 (C$4,2 + C$4,3)



